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MEDIUM OF TEST- ENGLISH

Please watch the online classes and answer the following questions

https://youtu.be/CyQQ0ovuVVo0
https://youtu.be/R7P52KQkmS0

1)In a queue of students facing north, Ayesha and Anisha are standing at 1oth and 8th position 1 point
from the left and right end respectively. If another student Ariva who is 12th from the left end is

exactly in between Ayesha and Anisha then find the position of Ayesha from right end ? *

() 10th

12th

15th

OO0 ®

8th

2)In a north facing row of NCC Cadets, Trisha is 9th from the left end and Tina is 12th from the 1 point
right end. There are 5 cadets between Trisha and Tanya who is equidstant to Tina. Find how many

cadets are there in the row? *

@ 32
() 34
() 36
() 31


https://www.google.com/url?q=https://youtu.be/CyQ0ovuVVo0&sa=D&ust=1600966635703000&usg=AFQjCNHinksengyRPqzPv_OT9MLz9TSz_A
https://www.google.com/url?q=https://youtu.be/R7P52KQkmS0&sa=D&ust=1600966635703000&usg=AFQjCNFR4E7z2_FyuaMINa1kMh_v8ZTV-w

3)During a prize distribution ceremony, Vikram was ninth from the left while Janhvi was eighth 1 point
from the right in the front row. If Hariom was thirteenth from the left and was exactly in the
middle of Vikram and Janhvi in the same row then what was the total number of people in the

front row? *

() 22
() 28
() 23
@ 24

#)In a row where all are facing north, Priya is 15th from the left end and Garima is 19th from the 1 point
right end. They interchange their positions, and Ram who sits 24th from the left end sits at the 5th

place to the left of Priya's new position. How many persons were there in the row? *

() 40
() 45
@ 47
() 48

5)In a row of 68 people, Sonal is 22nd from the left and Rinku is 17th from the right. Counting 1 point
from the left end, what will be the position of Pinku who is sitting exactly in the middle of Sonal
and Rinku? *

() 33
@ 37
() 45
() 12



6)Position of Atul in a row is 26th from the right side of the row. He is sitting 38th from the left

side of the row. Find out the total number of people in the row. *

() 8o
() 62
@® 63
() o1

7)There 46 people in a row. Raj is 26th person from the right side of the row. Rohan is a 32nd
person from the left side of the row. Find out the total number of people sitting between these

two? *

@ 14

16

38

O O O

18

8)There are 52 people in one row. Raj is the 14th person from the left side of this row. Rohan is a

1oth person from the right side. How many people are sitting between these two? *

() 10

18

19

O 0O ®

20

1 point

1 point

1 point



9)Pramod is 13th from the left side and Kanak is 2oth from the right side in a row. They decided to 1 point
interchange their positions, now Pramod becomes 18th from the left side. What will Kanak’s

position from the righe? *

20
22
23

25

@ O OO

10)In a row of persons, Position of Ajay is 3oth from the left side of the row and position from the 1 point

right side of the row is 34th. Find the total number of persons in the row? *

@® 63

73

53

O O O

83

11)In a row of 62 persons. Riya is 24th from the left side of the row and Raman is 20th form the 1 point

right side of the row. Find out the number of persons sitting between them? *

() 12
@ 18
() 13
() 21



12)[n a row of 62 persons. Riya is 36th from the left side of the row and Raman is 29th form the 1 point

right side of the row. Find out the number of persons sitting between them? *

) 2
() s
@ 1

O Non of the above

13)In a row of 20 persons, the position of Ritu from the left side of the row is 6¢h. Find the no. of 1 point

persons after Ritu in the row? *

() 12
() 13
@ 14
() 15

14)In a row of girls, Pratibha is 15th from the left and Kanika is 23rd from the right. If they 1 point
interchange their positions, then Pratibha becomes 18th from the left. Then at what position will

Kanika be from the right? *

@ 26
() 22
() 56
() 34



15)Rahul and Nitesh are standing in a row of persons. Rahul is 12th from the left side and Nitesh is 1 point
18th from the right side of the row. If they interchanged their positions Rahul becomes 25th from

left. What's the new position of Nitesh from the right side *

() 30
@ 31
() 32
() 33

16)Rahul and Nitesh are standing in a row of persons. Rahul is 12¢h from the left side and Nitesh is 1 point
18th from the right side of the row. If they interchanged their positions Rahul becomes 25th from

left. Find out the tortal persons? *

() 40
() 46
@ 42
() 23

17)Rahul and Nitesh are standing in a row of persons. Rahul is 12th from the left side and Nitesh is 1 point
18th from the right side of the row. If they interchanged their positions Rahul becomes 25th from

left. Find out the number of persons between them? *

() 13
@ 12
() 16
() 19



18)In a class of 9o, where girls are twice that of boys, Shushant ranked fourteenth from the top, if

there are 10 girls ahead of Shushant, how many boys are after him in rank? *

() 22
() 24
@® 26
() 30

19)In a row of persons, the position of Riya from the left side of the row is 1oth and position of
Ranjan from the right side of the row is gth. If Mahesh is sitting just in the middle of Riya and
Ranjan and position of Mahesh from the left of the row is 16th. Find the total number of persons

in the row? *

() 31
@® 30
() 26
() 40

20)Kanmani ranked sixteenth from the top and twenty ninth from the bottom among those who
passed an examination. Six boys did not participate in the competition and five failed in it. How

many boys were there in the class? *

() 56
@® 55
() 45
() 67

1 point

1 point

1 point



21)Murugan is sixth from the left end and Prasanna is tenth from the right end in a row of boys. If 1 point

there are eight boys between Murugan and Prasanna, how many boys are there in the row? *

() 21
() 22
() 23
@ 24
22) In a row of girls, Nithya and Suganya occupy the ninth place from the right end and tenth 1 point

p]ace from the left end, respective]y. It they interchange their p]aees, then Nithya and Suganya
occupy seventeenth plaee from the right and eighteenth plaee from the left respeetive]y. How many

girls are there in the row? *

@® 26

22
25

30

O O O

23)In a queue of children, Arun is fifth from the left and Suresh is sixth from the right. When they 1 point
interchange their places among themselves, Arun becomes thirteenth from the left. Then, what

will be Suresh’s position from the right? *

® 14th
() 13th
() 20th
() 15th



24)In a row of girls, Ramya is fifth from the left and Priya is sixth from the right. When they 1 point
exchange their positions, then Ramya becomes thirteenth from the left. What will be Priya’s

position from the righe? *

() 13th
® 14th
() 15th
() 16th

25)In a row of girls, Ramya is fifth from the left and Priya is sixth from the right. When they 1 point
exchange their positions, then Ramya becomes thirteenth from the left. What will be Priya’s

position from the right? *

() 10
() 11
() 12
@ 13
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